Directions (Questions 1-2): In each of these questions, choose the option that best captures the
essence of the text. - :

1.

The Rajputs occupy an honoured place in the history of India. They were a war-like people,
proud and patriotic. They were jealous of their honour, and would lay down their lives to
uphold it. They loved their homes and fought bravely to defend the honour of their women-folk.
Nothing would tame their spirits. Perils only called forth their courage and poverty only
increased their power of resistance. None could fight like them. Their motto was 'Better death
than dishonour.’

(1) The Rajputs were quite famous for their pride and honour.

(2) The Rajputs are known for their sacrifices for the country.

(3) The rise and fall of Rajputs have been really dramatic in the history of India.

(4) The Rajputs were really the spirited heroes of Indian history.

In the past thirty years, drugs have been discovered that prevent and cure physical disease and
reverse the disturbances that occur in some mental illness. Excitement over what drugs can do
has led people to believe that any ailment, infective or psychic, can be relieved by taking a pill.
At the first sign of nervousness, they try pep pills. Medical journals now advertise tranquillizers,
and other mood-altering drugs; doctors prescribe them; and the public expects miracles from
them. In such an atmosphere, it is not surprising that drug abuse has spread.

(1) Any ailment from which we suffer can be cured by medicines in a short time.

(2) In the recent years, there has been a misplaced trust in drugs.

(3) Doctors now cure all diseases.

(4) We should not have trust in all kinds of medicines.

Directions (Questions 3-4): Choose the order of the sentences marked A, B, C, D and E to form a
logical paragraph.

3.

A He was thrown on the road and lost consciousness.

B After sometime, he opened his eyes to realize he was in a hospital.
C Some people rushed towards him and tried to bring him to senses.
D While rushing home, Anil was hit by a speeding car.

E Since they did not succeed, they decided to take him to a hospital.

(1) EDABC (2) CBADE (3) DACEB (4) BADCE
4. A Initially, he could not adjust at this place.

B Now Dinesh is proud of his friends and he likes this place.

C Dinesh was recently transferred to Partapur.

D But all colleagues helped him.

E Partapur is considered a rural area.

(1) AEBDC (2) EDCAB (3) DBCEA (4) CEADB
3/V/2K15/02 2

//



Directions (Questions 5-6): Choose the option that gives the best way of Writing the sentence
ensuring that the message is correctly conveyed.

5.  Notwithstanding some measures adopted by the previous government, even though half
heartedly, the economic health of our country did not improve much as was expected, and this
led to widespread disappointment among people. '

(1) Previous government did not make sufficient efforts to make economy better for the people
of our country.

(2) Some measures taken by the previous government were a failure and people got so much
frustrated.

(3) Some efforts made by the previous government were not good enough to improve economic
condition, which failed to fulfill the expectations of the people.

(4) Previous government failed miserably to improve economic condition of our nation and
people are now so much unhappy. :

6. The prevention of accidents makes it necessary that not only safety devices be used to guard ‘
exposed machinery but also that mechanics be instructed in safety rules which they must follow
for their own protection, and that the lighting in the plant be adequate.

(1) As workers do not follow safety measures and machinery in plants remains exposed, we
witness so many accidents.

(2) We can avoid accidents by adopting safety measures, training the workforce, not exposing
the machinery and providing adequate lighting in the plant.

(3) Most accidents are caused due to ignorance of workers and not taking sufficient safety
measures.

(4) There is an urgent requirement to take required safety measures in our factories and train
our workforce to avoid accidents.

Directions (Questions 7-8): In each of these questions, choose the option which can be substituted
for the given words.

7.  One who hates mankind.
(1) Hater (2) Atheist (3) Philanthropist (4) Misanthrope

8.  That which cannot be corrected.

(1) Incorrigible (2) Indelible (3) Stubborn (4) Unexpungeable

Directions (Questions 9-10): Rearrange the jumbled alphabets in the following four options and find
the odd word among them.

9. (1) EVRIR - (2) NEAOC (3) MRESTA (4) OERHS

10. (1) TBARLCEE (2) ECNELCAK (3) ENBGLA (4) LCIPEN
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11. -wﬁﬁwmwﬁmﬁu(ﬁmﬁﬁ) =ierd 37 9Ra & TRy 59 o @ @ e
(1) werTZ Q) fer (3) TSR (4) sfamon

12, =omel TEw e wi WA ¥ R
(1) e OELE: (3) fireenre (4) StET

13. e ‘fora 1 W’ fra W) Aiee | watyg 22
(1) fem 2) ¥s faem (3) TR (4) tfa

14. ‘erer Tdte wR e e’ (Rf) AT 1 Yeel G&d FEbR ittt (& § o) fpl
e fopan e 22
(1) orfa= wAmfEn  (2) forsr 2awa (3) ot T8 IREEA (4) faygst goer

15. wieen 99 P g g tee few 3w 9 gy wr 82

(1)F W T (2) e (3) strefern 4) T8 A FE &
16. 2018%%@@%31@3#%&[@1?%@@@? |
(1) SR (2) &9 (3) (4) R

19 gw'lémﬁmqt?hm%
(1) I ¥ W 1 3 (2) @ 9 ufy=m =t AR
(3) a1 | W Y 3R | (4) 9f=m 9 | F AR

18. R & WY 904 & fFA v 1 di o 32
(1) fusim, wfoTQR, rTRTS, STEUTEE RS
(2) i, fqu, Ao, smaw
(3) frsir, AforqR, Frqy, oo
(4) s, Ao, g, swEvEe wiw

19. WHE e WA HEEel wt Sa-safa amem fead B 3
(1) 120 &= (2) 180 T (3) 245 T 4) 270 &=

20. ST R (G =AMR) & 87 ht w) F sroftaran’ feg 3w wt wo $, Rred w2014
? i W T § =i AR ¥ fEe de e 9
(1) wRa (2) wfepEa™ (3) ¥ (4) 94, smfi
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11. Recently, India’s first Compressed Natural Gas (CNG) powered train was started in the state of
(1) Maharashtra. (2) Bihar. ) (3) Gujarat. (4) Haryana.
12. Kunal Bahl is associated with which e — commerce portal?
(1) Snapdeal (2) Amazon (3) Flipkart (4) Jabong
13. Tagline ‘‘Live The Moment” is associated with which car model?
(1) Ritz (2) Grand Vitara (3) WagonR (4) Estillo
14. Who has been appointed as the first Chief Executive Officer (CEO) of the National Institution
for Transforming India (NITT) Aayog?
(1) Arvind Panagariya (2) Bibek Debroy
(3) V S Saraswat (4) Sindhushree Khullar
15. Lewis Hamilton is a Formula One racing driver from _
(1) USA. (2) England. (3) Australia. (4) None of these
16. The 2018 FIFA World Cup is scheduled to take place in
(1) Japan. (2) Russia. (3) Germany. (4) Qatar.
17. The earth rotates around its axis from
(1) north to south. (2) east to west.
(3) south to north. (4) west to east.
18. The States of India having common border with Myanmar are
(1) Mizoram, Manipur, Nagaland, Arunachal Pradesh.
(2) Mizoram, Tripura, Meghalaya, Assam.
(3) Mizoram, Manipur, Tripura, Meghalaya.
(4) Assam, Manipur, Tripura, Arunachal Pradesh.
19. What is the life span (approx.) of the human red blood cells?
(1) 120 days (2) 180 days (3) 245 days (4) 270 days
20. Online retail giant company ‘Alibaba’, which made the record breaking stock market debut on
the New York Stock Exchange in September’2014, belongs to which country?
(1) India (2) Pakistan (3) China (4) The USA
3/V/2K15/02 5



21

22.

23.

24.

25.

26.

27

28.

\/41—\/21+«./19—J§ 1 AR A @2

(13 @5 3)6 @4

TR FAN TR QU 1 AT 1284 31 T g9 € gew ©
(1) 320 (2) 322 (3) 324 (4) 326

THH R I ® 2% TaerEa (Hiw) Al 30 fem Tme d e e w e fem, wen frem 4@
7% faead sea 10% & Smam?

7 8 9 11
) 7 2) 3 (3) 5 C)) ™

IR A:B=5:73B:C=6:11MA:B:C=?
(1) 55:77: 66 (2)30:42:77 (3)35:49: 42 4) 38 9 g &l

43525 % I Frefafas & R §
(1) 241 2)4:1 3) 715 4)7:10

T & 4, 5 3R 6 g7 ®A H hoagds fasisa ) ) 99 wEw: 2, 3 SN 4 M 9% gem
?

(1) 214 (2) 476 (3) 954 (4) 1908

TEET WETe W WA WET 35 B 9 o g H 5-5 S5 K S af 78 gemet % we wm
(1) 40 (2) 30 (3) 50 (4) 65

fopell T S F) R T TGS A W gl wenl TR dore & Ui UsEEl i sid g sal
@ 2 foet 78 3 o9 ed o 5@ @R SR U §Is @i og ® wtw Febae i €7

(1) 9 o8 2) 1299 (3) 15 =d @) 79 9 =g T
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21.

8

23.

24.

25.

26.

27.

28.

Evaluate: \/41—\}21 +419 Z8 .

«={1)3 2)5 | (3) 6 4) 4

The sum of four consecutive even integers is 1284. The greatest of them is
(1) 320 (2) 322 (3) 324 (4) 326

How many kgs of pure salt must be added to 30 kg of 2% solution of salt and water to increase
it to a 10% solution?

7 8 9 11
05 @ 3 3) 5 @ =

IfA:B=5:7andB:C=6:11,then A:B:Cis
(1) 552 T71=66 (2)30:42:77 (3)35:49:42 (4) None of these

The ratio of 43-5: 25 is same as

(1y2:1 (2)4:1 3)7:5 (4)7:10

A number was divided successfully in order by 4, 5 and 6. The remainders were respectively 2,
3 and 4. The number is

(1) 214 (2) 476 (3) 954 (4) 1908

The arithmetic mean of seventy-five numbers is calculated as 35. If each number is increased by
5, then the mean of the new numbers is

(1) 40 (2) 30 (3) 50 (4) 65

After replacing an old member by a new member, it was found that the average age of five
members of a club is the same as it was 3 years ago. What is the difference between the ages of
the replaced and the new member?

(1) 9 years (2) 12 years (3) 15 years (4) None of these
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29;

30.

31.

3.

33.

34.

33

IfE A Sl FI TH G&A & FH H TE MY H Ioeq W T G, qmmﬁls stfues &
stk sfl w1 AW 8} @ g wem w2

1) 26 () 35 (3) 53 4 Fd ¥ aﬂ;‘ el

A 3IR B %! THF 1Y I UG 5:3 21 4 T e A H g o @ Q 4 9 9 B W g W
UM 1121 A | 4 99 a1 AT o 3R 4 o9 Ted BFY Y H oUW T gm?

(1) 1:3 (2)2:1 €3):3:1 ' 4) 4:1

Tordlt a5 w1 71920 9 9 W SAfSia anw wfoea 3@ T 1280 # =9 W U wf uiwm # SR
?1 25% @ Ifdd w6 & ¢ 39 a5 ) feal SWa W a9 A

(1) 2000 (2) T2200 (3) %2400 4) 379 9 +i3 =ré°r‘

T A ST 3:4:5 oTa H B ¥ 3y SR wr & fgw @ qu o gy € frswr A gy ok
T AR (4:1), (3:1) SR (5:2) U A €1 A A adH w1 fagor w9 adw ¥ s i s
21 9w F qu ol w1 eruE @

(1) 41 (2) 151:48 (3) 157:53 (4) 5:2

A 17 AT 20 AN Al @ 18 Tl A X R 8 ¥ w1 R g W T ¢ A oW e 9 W
M A g6 Al § 39 WX ot =i @i & foau iR e aogdl =1 s e

(1) 85 (2) 51 3) 72 (4) 79 § 3 T

TF T U R R d PN W QW a6 W SR PAdl Q% I 919 fio R T a% 9
M H HA 19 T T A |1 AR o w0 A0 4 fel, wfy s ok feer o W A w1 =@ 14
ot wft Jar @ @ PR Q& fiw feeht i @2

(1) 160 T, (2) 180 e, (3) 200 feps, (4) 220 fert.

At @F A ) WA S1 it S2 H et Fraw e W wEm: 89 it ol 99 wifie < @ Twats
=t frern 21 afk @ ot A S Tl @ uw S W w0 2481830 B iR FRw % w5
Tfer 27,000 7 @ @i S1H frart wmfyn few =t w2

(1) T 12,000 (2) T13,500 (3) T 15,000 (4) ¥4 ¥ g &
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29,

30.

31.

32,

33.

34.

35.

If the number obtained on interchanging the digits of a two-digit number is 18 more than the
original number and the sum of the digits is 8, then what is the original number?

(1) 26 2} 35 (3) 53 4) None of these

The ratio between the present ages of A and B is 5:3. The ratio between A’s age 4 years ago and
B’s age 4 years hence is 1:1. What is the ratio between A’s age 4 years hence and B’s age 4
years ago?

(1) 1:3 (2) 2:1 (3) 34 4) 4:1

The percentage profit earned by selling an article for ¥ 1920 is equal to the percentage loss
incurred by selling the same article for ¥ 1280. At what price should the article be sold to make
25% profit?

(1) 2000 (2) 2200 (3) T2400 ~ (4) None of these

Three containers have their volumes in the ratio 3:4:5. They are full of mixtures of milk and
water. The mixtures contain milk and water in the ratio of (4:1), (3:1) and (5:2) respectively.
The contents of all these three containers are poured into a fourth container. The ratio of milk
and water in the fourth container is

(1) 4:1 (2) 151:48 (3) 157:53 (4) 5:2

If 17 labours can dig a ditch 20 meters long in 18 days, working 8 hours a day; how many more
labourers should be engaged to dig a similar ditch 39 meters long in 6 days, each labour
working 9 hours a day?

(1) 85 ) 51 3) 72 ~ (4) None of these

A boat takes 19 hours for travelling downstream from point P to point Q and coming back to a
point R midway between P and Q. If the velocity of the stream is 4 kmph and the speed of the
boat in still water is 14 kmph, what is the distance between P and Q7

(1) 160 km (2) 180 km (3) 200 km (4) 220 km

Mr Khan invested money in two schemes S1 and S2 offering compound interest @ 8% per
annum and 9% per annum respectively. If the total amount of interest accrued through both
schemes together in two years was ¥ 4818.30 and the total amount invested was ¥ 27,000,
what was the amount invested in scheme S1?

(1) ¥12,000 (2) 13,500 (3) ¥ 15,000 (4) None of these
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frder (We 36-37): T U H ¥ wF fawew T W @ e # a frwed @ R 3
36. (1) 69, 43 (2) 63,47 -. (3) 34, 85 (4) 65,23

37. (1\) RGliisca (2) S (3) T9El 4) g

38. e & EAEen 7 7w we e fohew @ T g
10, 18, 34, ‘7, 130, 258 '
(1) 32 (2) 60 (3) 68 (4) 66

39. gu A Fel, 9 asE! o0 W @ Ul ueh 2| G 9 o9 we @ a Rva 27

(1) 3= (2) 9™
(3) X (4) fruifa =& fvar w1 gekar

frder (0o 40-42): T T & IR P & fow AR G gEw =m Q=@
rﬁaﬂwwﬁﬁaﬂtaﬁﬁaﬁmf@w@%mﬁmﬂuﬁﬁﬁsﬁtmimfw@%
TiRE 3R Foma firshe ol dictiater @ 1= faemst §1 i, e ol wrewe weater s Juata @ o
et €
40. T, foRshe o aichatel 1 st faarst = 27

(1) wfe (2) o (3) 3 4) i

41. gt e, dictaia ok geata w1 s faarst #m 32
(1) gfem (2) (3) Ra 4) fa

42. ﬁwﬁ,ﬁmﬁ?ﬁwmf@a@aﬂq%] |
(1) afaq (2) oA @R F (4) TR

43. ot e 752 o ¥ BORN % APQON 3it LACK ' KBBLK feratt 971 $1 3 w52 971 4 GRID
I &1 foren srwm?
(1) FSHCD (2) HSIED (3) FOHCD (4) FSHED

4. o = o i g W R 9w @ fen ¥ 90 e wom @ ww ot 4 oiv e, i 20
e T N R AR Y1 Sl T I 9 30 Hew Tem ot = @ W g 599 fir ged
Tl &l 7l ¥ 9% 3w e F 100 #Hex wen o i ot ¥ s fra ¥ fremt o TE @
WA ¥ foralt § W ae o i ® fiem?
(1) 80 #HrX (2) 100 #Hi (3) 140 Wi (4) 260 HiX
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Directions (Questions 36-37): Find the odd one out in each of these questions.

36.
37.

38.

39

(1) 69,43 (2) 63,47 (3) 34,85 (4) 65,23

(1) Plastic (2) Wool (3) Leather (4) Wood

Complete the series by replacing ‘7’

10, 18, 34, ‘7, 130, 258
(1) 32 (2) 60 (3) 68 (4) 66

Suman said, “This girl is the wife of the grandson of my mother”. How is Suman related to the
girl?

(1) Grandfather (2) Mother-in-law

(3) Father-in-law ' (4) Can’t be determined

Directions (Questions 40-42): Read the following information carefully to answer these questions.

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in Hockey and
Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin, Gaurav and Michael are
good in Football and Baseball.

40.

41.

42.

43.

44,

Who is good in Hockey, Cricket and Volleyball?
(1) Sachin (2) Kunal (3) Ravi (4) Gaurav

Who is good in Baseball, Cricket, Volleyball and Football?
(1) Sachin (2) Kunal (3) Gaurav (4) Ravi

Who is good in Baseball, Volleyball and Hockey?
(1) Sachin (2) Kunal (3) Ravi (4) Gaurav

In a certain code language, BORN is written as APQON and LACK is written as KBBLK. How
will the word GRID be written in that code language?

(1) FSHCD (2) HSIED (3) FOHCD (4) FSHED

A child is looking for his father. He went 90 metres to the East before turning to his right. He
went 20 metres before turning to his right again to look for his father at his uncle's place 30
metres from this point, His father was not there. From here he went 100 metres to the North
before meeting his father in a street. How far did the son meet his father from the starting point?

(1) 80 metres (2) 100 metres (3) 140 metres (4) 260 metres
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Fror (U 45-47): = R U v ¥ @ wem fu € e dm wron ok yue w1 w Hey @)
so s Frefofed &9 o offerq w0 :

(1) afs wom I'wRo’ § ok #em I ‘o’ #1

(2) afk we 'R’ @ 3R & Il aaEa’ 1

(3) afz w2 18R M3 & ©F o ‘SR’ & ‘gaE’ 2

(4) afx wem 1R 11 3FT Toas SRl & ‘e’ #)

45. S 1

w9 11

46. w¥A1

R

47. 91

%A 11

. g U ST ghed A onw o Rl wrdt } fF arord F m @ o A e

@ et s e A e fie ¥

. fordt W feafy 9 T = fau s9 &9 9 T © @l =i fordt o & o werafa

T s

: TR 3 ford iy @ Wi = gifea ot 6t Syl @ e sreee £ # A

I 2

: SHEGR | 7 H T o™ @ ek it T § it sue wgwenl i wR S o

2

. 391 ¥ 2T 1 YA H A6l Fl 20 B S WM q% $20E 1 YA ) 99

TqH © H gAR § W 2

: TR o (FEi) #fRT % fae famien safial w Thet # R TR T SR

3e [l daue & fow ww afean see gean yomelt @my i

fador (Woe 48-50): T U % SW W & o N § T gu )

TF TRER & B U I, 3, L, 90, T SR GreHel wh E § 943 21 e % o, e,
Tral-fuan Sl =m0 3@ W § €)1 S o9 R oIk wgea ot € oFfa Y 7 o e fra 9 S
T HI 21 WM F IS T Y AR W EEHSA G FH 2 Gow H wdrs/wisl sem F ae qel
%4 2| ol & T 1 ooF Eewel ¥ SR § W O ¥ g e e R, T E@ o 1 e wey

SRy 21

48. YRER ¥ frues go9 Wad SO 87

(1) ST

(2) =& (3) TR (4) =M

49. o & Ui w82

(1) Fem=n

(2) g (3) =@ 4) F2

50. 3T % el 59 g9E W 9 o Afeard @ &2
(1)@{5313:?{& (2) =i 3R Tem (3) wremiel R S (4) s ek gen
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Directions (Questions 45-47): In the following questions, two statements have been given, which
bear a cause and effect relationship. Mark the answer as

45.

46.

47.

(1) if Statement I is the ‘Cause’ and the Statement II is its Effect.
(2) if Statement II is the ‘Cause’ and the Statement 1 is its ‘Effect’.
(3) if both Statements I and II are ‘Effects’ of a common ‘Cause’.
(4) if both Statements I and IT are ‘Effects’ of independent causes.

Statement I : The Times of India has reported today that water of Ganga at Varanasi contains
level of pollutant much higher than the permissible limit.

Statement II : The people living in the area are to be shifted to another area to avoid a
catastrophic situation.

Statement I : The Government has planned to make arrangements for supply of safe drinking
water from Tehri Dam.

Statement II : The Ganga water at Kanpur is not even fit for bathing as it contains very high
level of pollutants.

Statement I : The internet users of the country have been advised to stay alert while using
internet till the hackers are caught.

Statement I : The Government machinery will make an all out effort to catch those who are

responsible for hacking and put in place a sound internet security system for all
its websites.

Directions (Questions 48-50): Study the Information below to answer these questions.

Six family members Anita, Beauty, Cute, Debang, Ela and Falcao are sitting in a boat. Anita's
husband, sister, parents and uncle are there in the group. There are two more girls among them.
Beauty, the mother of Anita is heavier than her father. Debang got more weight than Ela but less than
Falcao. Niece of Falcao, Ela got the least weight. Father of Anita is heavier than Falcao but not the
heaviest. Nor is Anita the heaviest of them.

48.

49.

50.

Who is the heaviest in the family?

(1) Anita (2) Beauty (3) Falcao (4) Debang
Who is the husband of Anita?
(1) Falcao (2) Ela (3) Debang (4) Cute

Who are the ladies in the group other than Anita?

(1) Cute & Beauty (2) Debang & Ela (3) Falcao & Beauty  (4) Beauty & Ela
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51. T TSRO Feel i T W YR TH O W X P T Bed B ¥ =9 w9 B e v
foran s R1 o oref € fi | '

(1) Y8R X% 99 & $ROF g9y §

| Q) XFTH AT H Y T 09 F1 e F $ 1€ w60 0 o1 9@ &
3) X WM, Yo WHi 1 Sdwar 9 Frkor e &
4) YR X% 9 %K SR Gy e 2

52. Y UG AT Sea
(1) fife=r wde waEall ) TR SHIwe 9§
(2) Ffiea W woeRal =t Y@ guERel @
(3) Ffr=a wfte Rl =t o wfew ol @
(4) P Y R 1 ST A

5. R WE _ # Sea )
(1) T Y@ garhe SR O Wag wHR
(2) TF W% WAHS SN TH A qAH
(3) T Y@l WA 3N Th I WA
(4) TF e I AU SIR TS HaE GHehe

54. AT 3 x 4 At e T 9N Ax = b THIEON F1 TH ST T 21 A 9 SS90 999 HE
?

(D1 (2)2 - 1(3)3 @4
55. WUt SR h% fow ferre & frem deeen =) wRyea e

(1) O - (2) O(K’)
(3) O(K® (4) O(K’)
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51. A regression model is used to expréss a variable Y as a function of another variable X. This
implies that :

(1) there is a causal relationship bétween Yand X.
(2) a value of X may be used to estimate a value of Y.
(3) values of X exactly determine values of Y.

(4) there is no causal relationship between ¥ and X.

52. The Gauss divergence theorem relates certain
(1) surface integrals to volume integrals.
(2) surface integrals to line integrals.
(3) vector quantities to other vector quantities..

(4) line integrals to volume integrals.

53. Stokes theorem connects
(1) aline integral and a surface integral.
(2) a surface integral and a volume integral.
(3) a line integral and a volume integral.

(4) gradient of a function and its surface integral.

54. Ais a3 x 4 real matrix and Ax = b is an inconsistent system of equations. The highest possible
rank of A is '

(11 (2) 2 (3)3 “4) 4
55. The accuracy of Simpson's rule quadrature for a step size / is

(1) O(h®) (2) O
(3) O (4) O(K)
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56.

3T

58.

59.

60.

@

1 2504 '

amg[s 0 6]@@&%%‘(W)m%ahaﬁw%1mﬁaﬁﬁﬂmww
1.1 p = L

(D p @) p-1 Gp-2 - @p-3

A [1, 5] % B y = x° 1 <9 9H @
(10 )1 : (3) 25 (4) sraftsnfia

T Sl § 4 A R 6 Fieh A €1 T G Y T B AR T e a5 A R aafee
w9 ¥ et et ¥ 9 T g ¥ o o ol @ we iR e 9 wivea ¥

(1) 1720 (2) 1/12
(3) 3/10 4) 172

(1) fedta Fife =1 v iflash Temy e wefteo
(2) T Fife =1 TF Rfah FURY e FHH
(3) T Fife =1 T faw Gurer sEwa T

(4) fafsm +ife =1 @ Rfas U eEHa qHiE

y(l).:g I B Wy x%ﬂ::x“ w1 T 2

4 4
x 1 4x* 4
) y=24= gy el 2
(1) y 5 (2) y 7t
4 5
3 =E__+1 4 =£_
3) vy 5 4) y 5+1
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56.

3L

38.

59,

60.

1 2 4
The matrix [3 0 6| has one eigenvalue equal to 3. The sum of the other two eigenvalues is
110p - '

Dp @p-1 G p-2 @p-3

The minimum value of functiony = # in the interval [1, 5] is

(1) 0 @1 - 3) 25 (4) undefined

A box contains 4 red balls and 6 black balls. Three balls are selected randomly from the box one
after another, without replacement. The probability that the selected set contains one red ball
and two black ball is

(1) 1/20 (2) 1712
(3) 3/10 (4) 172
3 2
The Blasius equation, E—J; +f% =0,isa
dn® 2dn

(1) second order nonlinear ordinary differential equation.
(2) third order nonlinear ordinary differential equation.
(3) third order linear ordinary differential equation.

(4) mixed order nonlinear ordinary differential equation.

The solution of x%ﬂz:x“with the condition y(l)-:% is
AR | ax* 4
1) y=—+— 2) y=—+—
(1) y T @)y P
4 5
3) y=£5~+1 (4 y:x?+1
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61.

62.

63.

64.

65.

d= amte F 2 St e At foelt arorefier sEaRRa il @ S @ 5 g W Rem +10 pC
#1 T fog smaw feamn mn @ :

+10 uC
f——5cm 24

' N A-4)

FreAier el R /e WRa smaw e €2 |
(1) 10 uC (2) 4 uC | (3) 5uC (4) 125 pC

frefafiaa ofteg w® iR =

59 TRuy ¥ IER 6N I, fee 82
(1) - 5 mA (2) - 10 mA (3) + 25 mA 4) + 50 mA

Frafafaa wifvs aftws w ik #
) 1Y e T
CW:)D D X

39 wifoeh TRuY & fAY ST X = 1 %W % fore enifd 592 ¥ (A, B, C) &1 872
(1) (1,0, 1) ) (0,0, 1) 3) 1,1, 1) @ (0,1, 1)

et =mers & e TeeE T (1/1.6) x 102 9 21 seteelT wiieierr 10 S/ ae-geve 3
T giRawa & 9 feaw 22
(1) 10*Wm (2)1.6x10°Wm  (3) 10 Qcm @) 10* mho cm™

Tk G TEe g @ |

(1) 3=9 wfeiEepar p-n 9y s/EE
(2) T i faem gim

(3) T gaeT I |
(4) ©F rafyss wifkd p-n 9F SElE
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61. A point charge of +10 puC placed at a distance of 5 cm from the centre of a conducting grounded
sphere of radius 2 cm is shown in the diagram given below.
+10 uC -

f——5 em—rf 22

I

What is the total induced charge on the conducting sphere?
(1) 10 uC (2) 4 uC (3) S5pC (4) 125 pC

62. Consider the following circuit.

What is the load current Iy, in the above circuit?
(1) -5mA (2) -10 mA  (3) +25mA (4) + 50 mA

63. Consider the following logic circuit.

AR B
g ) o] )

What is the required input condition (A, B, C) to make the output X = 1, for the above logic
circuit?
(1) (1,0,1) ) (0,0, 1) 3 1,1,1 @ (0,1, 1)

64. The free electron density in a conductor is (1/1.6) x 10?2 ¢m™>, The electron mobility is 10
cm®/V s. What is the value of its resistivity ?
(1) 10*Wm 2)1.6x102Wm  (3) 10 Qcm (4) 10* mho cm™

65. A tunnel diode is
(1) high resistivity p-n junction diode.
(2) a slow switching device.
(3) an amplifying device.
(4) a very heavily doped p-n junction diode.
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66.

67.

68.
69.

70.

71.

T2

73

74.

11 9 3R 6 Hie T frel Yeaw @ fou wa ml @t wem A B
(1) 4 2) 5 ‘ 3)6 4 11

et waefr = v @fer 200 21 2fgsa o swe! wfs frat 2f? (loge 2 =0.30)
(1) 14 dB (2) 17 dB (3) 20dB (4) 23 dB

et el Saw § e T w1 vE FeAfataa R W e o @
(1) =TT ) vies (3) TR @) Sz

et waefas fow &1 = 10 W 21 A= 341 9t W R 1 sfusrad dwa (areyl) afew ahft
(1) 30 Sfasa (2) 40 Sfqaa (3) 50 Sfema (4) 60 2fa=m

A7t B 8 wolieh Hl TIH HH A A el T2 91 Th 3 x 8 Teabret %1 war fran s 21 feeiet
H Tae w5 fou e 3 @ @ 9l U Ao fae 99 9 gh R e R w yds aud
Wleh 1 IMHR A TAI?

(1) 2K (2) 4K (3) 16K (4) 64K

& fgyda i < wiel @ sIR-uR dieear gavmet ® fvlt = gu fafs= fafiel o g=mem
W gwal 21 3 fafucar) €

(1) = fafy (2) |gfa fafy (3) sias fafy (4) 3 |t
TH Fl H & FA A % faada & 19 wRug o & & ¥ iwnfig fE
W W forgadea o e ok ge w2
(1) wfema, sy | (2) =, =R
(3) W, whey (4) wfem, s T
frefafen oma fred F UF AEYE THERT ufiny B
+

Bm V, $rp £ LJ'C I

_ m‘s :‘:Pi:Rg ]- o
X (2) TS 3) s (4) T | HE T

sifg-Urg o wrafem qRafast o @ =) o= feed ® - Wiz, ofar, free, o2 aon
(1) SrEaea (2) I (3) G OEE S
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66.

67.

68.

69.

70.

71.

72

73.

74.

For a network of 11 branches and 6 nodes, what is the number of independent loops?
(1) 4 2)5 3) 6 4) 11

An amplifier has a power gain of 200. What is its gainin dB 7 (logio 2 =0.30)
(1) 14dB (2) 17dB (3) 20 dB (4) 23dB

In a coaxial cable, braided copper is used as a
(1) conductor. (2) shield. (3) dielectric. (4) jacket.

A parabolic dish has a diameter of 10 m. The maximum possible (ideal) gain of the antenna at
A=341 cm will be

(1) 30 dB. (2) 40 dB. (3) 50 dB. (4) 60 dB.

A 3 x 8 decoder with two enable inputs is to be used to address 8 blocks of memory. What will
be the size of each memory block when addressed from a sixteen bit bus with two MSBs used
to enable the decoder?

(1) 2K (2) 4K (3) 16K (4) 64K

A bipolar transistor can operate in different mode(s) depending on the voltage polarities across
the two junctions. The mode(s) is/are

(1) normal mode. (2) saturation mode.  (3) cutoff mode. (4) All these

A is defined as a circuit element that stores and releases electromagnetic energy as
opposed to which dissipates energy. :

(1) reactance, resistance ; (2) capacitance, conductance

(3) inductance, resistance (4) reactance, mutual inductance

The following diagram is an output tuned circuit of a

1, ]

R QLTC v,

oq
B

g mq
3

(1) diode. (2) triode. (3) pentode. (4) None of these

The five types of noise in op-amps and associated circuitry are shot noise, thermal noise, flicker
noise, burst noise and

(1) cyclone noise. (2) tornado noise. (3) tsunami noise. (4) avalanche noise.

3/V/2K15/02 21



13,

76.

7.

78.

78

Yo Y e % e T & R 9’ ¥ o qw o e §) et ¥ frem woge ¥

i
&

(1) 39 3 - (2) feer Wiy o=
(3) e wftrema 9 (4) feor wad TN g9
Yt A fe@rn o ste-tm aftvg o feew 1 e w1 e ol gut siaw smaft wew:
¥
K
10K .
ARAMNA >—--;°-—
+ VT

(1) 39 9, 1000 {eawve 2) fr 9/, 1000 Yerawve
(3) $=9 UM, 10000 YeAwve (4) Fre 9, 10000 YeAwve

‘ Tfwer -9 a1 VoA § W TS B G THRET WeF € w1 o §1 T W
R TF T G deed amE It 2 it sy W W uw < W deed wehe w2

(1) wats 2) fewr 3) fFam=w (4) T
fireet R ol fom fife fope A o & Resesa ot &9 @ afem oF 1 A @
(1) g% FR_& (2) S wRF (3) vifer R (4) 97 FRE
freafafen smegfa & v __ = @ w1

@A (P)

()

E;;j

2 g (G) e ®
=

(1) T (2) TMAE (3) =T (4) 2R
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76.

7,

78.

79.

Many circles are drawn in a Smith chart used for transmission line calculations. The circles

shown in the figure represent .

(1) unit circles. (2) constant resistance circles.
(3) constant reactance circles. (4) constant reflection coefficient circles.

The op-amp circuit shown in the figure is a filter. The type of filter and its cut-off frequency are

respectively.
« 10K
e Aoy
X i
L) t
- 1uF
: 1K

(1) high pass, 1000 rad/sec (2) low pass, 1000 rad/sec
(3) high pass, 10000 rad/sec (4) low pass, 10000 rad/sec

circuits are two-port networks that capitalize on the nearly one-way conduction of
the diode : an ac voltage is impressed upon the input port, and a dc voltage appears at the output
port. .
(1) Amplifier (2) Rectifier (3) Regulator (4) Logic

A measure of goodness for rectified waveforms, both filtered and ﬁnﬁltered, is the
(1) needle factor (2) ripple factor (3) power factor (4) thread factor

The following figure represents a

Plate (P)
Control grid (G) Cathode (K)
" Heater
(1) triode (2) diode (3) pentode (4) transistor
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80.

81.

82.

83.

84.

85.

T AHUEW ¥, tw Fifvea oy & fau wedes g a6 & e fifved wm € e dd
2 o aTeg Y Y wrafter @ R o1 g W SRl Y wifte W erellsm R W1 W
1 T8 TR 1 IRy R - |

(1) R-eresreda oo i-vaRE

(2) ST TE R-TERH

(3) I-sr=sreda U wERE

(4) BRI W& TS

w faydt afoet ¥ & ‘orgd e’ Wt foF wareht Su-fagy (enur-dieE) # % W @R wRa
w2, frgs wRo B 22

(1) YR W soagA-fox &1 ;- daem

(2) SMYR-|Ardt Sl 1 foodia s

(3) ScESIh YR TR H W AT

(4) SIIFT | He-h-Ra=d giwa & s=ria R # welka smEw & @ frhem

@ g yaw & aifiaeol @1 9r Frafafaa @ w9 § & w1 v o

(1) faemer umr wfsy

(2) favrer aleem @fsy

(3) T fraw ufqsmen

(4) 3 it

Frefafag 5 @ #5F @ & vads =1 ™ oo T8 22

(1) 39 Siced Al (2) ereq Faw wiqamen
(3) Tavmer frfw wfteen (4) fawme ur @fe
IR WA el SArS srEe st wEam 1

(H)H @ f @ (2) Tfwa

3) (1) 3R (2) A @ @ @ & @
WHA e TH amire

(1) THiERTR (2) fafeforn

(3) wEfafaren @) 79 ¥ 8 T
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80.

81.

82.

83.

84.

85.

In a microprocessor, the service routine for a certain interrupt starts from a fixed location of
memory which cannot be externally set, but the interrupt can be delayed or rejected. Such an
interrupt is ‘ “

(1) non-maskable and non-vectored.
(2) maskable and non-vectored.
(3) non-maskable and vectored.

(4) maskable and vectored.

The phenomenon known as “Early Effect” in a bipolar transistor refers to a reduction of the
effective base-width caused by '

(1) electron-hole recombination at the base.

(2) the reverse biasing of the base-collector junction.

(3) the forward biasing of emitter-base junction.

(4) the early removal of stored base charge during saturation-to-cutoff switching.

The characteristics of the CE amplifier can be summarized as
(1) large current gain.

(2) large voltage gain.

(3) moderate input impedance.

(4) All these

Which of the following is not a characteristic of the CB amplifier?
(1) High voltage gain

(2) Small input impedance

(3) Large output impedance

(4) Large current gain

Four layer diode is also called the

(1) PNPN diode. (2) Shockley diode.
(3) Both (1) and (2) (4) NNPP diode.
Shockley diode is

(1) unidirectional. (2) bidirectional.
(3) multidirectional. (4) None of these
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86.

87.

88.

89.

90.

0%,

92,

93.

feredl @i R-C 9Rue 1 59 T gy g
(1) gvft R-C (2) St R-L
(3). 991 R-C (4) SR R-L

WH 3 pF 4aife 6 9Fe & fog 2 pA = wF Rex (sR) Ul gR1 el fea e 1 smave

& 3fd H guifig & SI-9R Sieed Euifl

)3V (2) 4V 3)6V 49V
et ferrer T g R e B 2

(1) Yewa: yfaa (2) @ el yfea

(3) T geia: yf (4) Seiegfiad: g

wal foFee ¥ TR ST GHAY S a9 ¥ B 2

(1) ALO; & HieH o8 | Falsehal 98 & 3R

(2) Cr @ ! 99 ¥ oM 98 ¥ FH ° ¥ TH H R

(3) Cr T7F 3R €W 7T SHol &/ & "

(4) Cr 3 ! a9 § T4 A ¥ T 3R ALO, & Wilowal 98 & =

16 x 4 R ® =R 408 a9 & ©U 99 T 99 I8 21 7e fawn JMHR T BFT
(1) 64 x 4 (2) 16 x 16 (3)32x8 4) 256 x 1

e @ aR F Prefaten § @ SR- s ad T

(1) @ =t ToiRal (TeCE), gfads #Y iR it guee e R

(2) HDF AU B, -FHEdT Bod ® w9 H € e W1 wwd

(3) HH WAl & U gAEds s forem, R-gREdT Suiat fe w erden e g @
(4) TR Borl #t aeg (FiA) v B R W ufqed W wefivn w difm w1 @

wr ffi 2 = ¥ 399 FH B e gaQ SUgF B 2

(1) IEHIREY oA (2) AEHIGE TTILH
(3) TIY S WO (4) THIGR IHe TR
et =l-B Wit waeler 1 weeE g el Tga 22 |
(1) T & <iis _A & "% ¥

(2) € i iR T I Wiie ARAT W ORI GAE FE-AF W
(3) T W ©ie @R W WU $-A% 89 & Hw
4) St @t dis T ® A7 Ay |
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86.

87

88.

89.

90.

91.

92.

93.

The dual of a parallel R-C circuit is a
(1) series R-C circuit. 3 (2) series R-L circuit.
(3) parallel R-C circuit. (4) parallel R-L circuit.

A 3 pF capacitor is charged by a constant current of 2 pA for 6 seconds. The voltage across the
capacitor at the end of charging will be

(H3V (2)4V 3)6V 49V

The wave radiated by a helical antenna is
(1) linearly polarized. ) (2) right circularly polarized.
(3) left circularly polarized. (4) elliptically polarized.

Laser emission from Ruby crystal is because of transition

(1) from conduction band to valence band of Al,Os.

(2) from conduction band to one of the levels due to Cr ions.

(3) between energy levels introduced by Cr ions.

(4) between one of the levels due to Cr ion and valence band of Al,Os.

Four memdry chips of 16 x 4 size have their address buses connected together. This system will
be of size

(1) 64 x 4 2) 16 x 16 (3)32x8 (4) 256 x 1

Which one of the following is not correct about recursion?

(1) Depth of stack is proportional to the depth of recursion.

(2) Some of the recursive functions cannot be written as non-recursive ones.

(3) For some of the functions, writing recursive version is easier than non-recursive version.
(4) Recursive functions have terminating condition which limits the depth of recursion.

A pyramidal horn antenna is best suited to excite from a
(1) microstrip line. (2) microwave waveguide.
(3) coaxial line feed. (4) parallel twin line.

Where does the operating point of a class-B power amplifier lie? ‘

(1) At the middle of a.c. load line

(2) Approximately at collector cut-off on both the d.c. and a.c.load lines
(3) Inside the collector cut-off region on a.c. load line

(4) At the middle point of d.c. load line
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94.

95.

96.

97.

98.

99,

100.

W U1 B TH HH Tael wa e () woug @ feew fes s e )
(1) oig & e (2) SweEe MW (3) wufas s (4) urg #1 .3

T& RLC 4ot ofwer 1 9 R 20 Q ? 3R orwgaa seed ¥ 45° 93 yv= e et gm €1 3k
WF B AR-TR Sieed], GURT H R-IR dieedl St TH ¢ dl Work giwema w1 99 #1022
(1) 10Q 2)20Q (3) 40 Q 4) 60 Q

10 kHz % 2@-urq fopedt eremifza &ifvres o SR & segeq & fau frafafas § ) s-w svem
T8 I9TH 22 *
(1) Fsd sw CRO (2) fapret

- (3) ©RS QeaEd (4) @R

et v 1 @ & forg oMY 15 V' o e 10 mA #Y u i #1 7 1 Kz % fere
saf & fa 600 Q @S 9y % STR-TR 5 V f1er &t w frin e st @1 3o Tt o
frim feram g

(1) 260 mW (2) 20.8 mW (3) 520 mW (4) 40.6 mW
GERCEN 1 STHA I9E 2

(1) 3 wéifea (2) ¥ ferem

(3) dfeemR w9rE (4) @ 99

TA{OTI ﬂ aﬁwf[(fs ‘3‘] o A (STgE) A A 2- e W F R (e

f5FT) W &1 GASH G e F 2

310 36 1 10 3010
n [2.2 12.4] @ [0.2 12.4] ) {2.0 12.0} pus el [12.4 2.2}

frdt CRO W waaa afea gudifes

(1) sfwa (ffisra) dodifes =) gem § ot o e @
(2) & farren &t a9 & H Gl

(3) 3=9 gfa famal &1 e 78l X g

(4) a1 &fio S Gl #
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94.

" 93,

96.

97.

98.

99.

100.

Metal film resistors are made by depositing a very thin layer of metal on a
(1) metal rod. (2) bakelite sheet. (3) ceramic rod. (4) metal sheet.

An RLC series circuit has a resistance R of 20 Q and a current which lags behind the applied
voltage by 45°. If the voltage across the inductor is twice the voltage across the capacitor, what
is the value of inductive reactance?

(1) 10 Q 2)20Q (3)40 Q 4) 60 Q

Which one of the following instriments is most suitable to study the behaviour of a damped
transient around 10 kHz?

(1) Double beam CRO (2) Recorder
(3) Storage Oscilloscope _ (4) Plotter

An amplifier has a d.c. power supply of 15 V and draws a current of 10 mA. It produces an
output of 5 V peak across a load resistance of 600 Q for a signal frequency of 1 kHz. What will
be its a.c. power output?

(1) 260 mW (2) 20.8 mW (3) 520 mW (4) 40.6 mW

Piezoelectricity is the reverse effect of
(1) Electroluminescence. (2) Electrostriction.
(3) Peltier effect. | (4) Hall effect.

Two 2-port networks with transmission matrices

LR a2 4
— an -
4700l 4 B™los 3

are connected in cascade. Which is the transmission matrix of the combination?

310 36 1 10 310
M) {2.2 12.4} @ [0.2 12.4} ) [2.0 12.0] @ [12.4 2.2}

Active probe used in a CRO
(1) is bulkier than passive ones. (2) cannot measure small signals.
(3) cannot couple high frequency signals. (4) can attenuate more.
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